Hrpa

«Bormpoc Ha 3aChIIKY!»

CocTaBunu:

Maroposa Parca BacunreBHa, yUYUTERD
MaTeMaTHKH,

XnynuHa HaTanbs BacuneBHa, yUUTERb
AHT'AUPICKOT'O SI3bIKA.

MBOY «lIpomsnunnerroBckas COII No

56»

s siiseBERRKON OORACTH.




34eCh 3aTeH U 338a4H,
HUrpsl, m1yTKH, BCce AR4 Bac!
Ilo>)xenaem BaMm yaayvH,

3a pabory, B 506pBIH Yac!



MaTeMaTHyeCKHH (POKYC

(ONOREORONONONONO)

3aAyMaTh YHCAO.

YMHOXHUTB €I'0 Ha 2.

K npounsseneHuo npubaBUTsh 3.

[TonyueHHYIO CYMMY YMHOXHUTD Ha 4.

OT IIOAYYEHHOT'O IPOHU3BEAEHUS BhIUYECTD 12.
IToryueHHYIO Pa3HOCTD PA3AEAUTD HA 3aAYMAaHHOE
YHCRO.

CKORBKO ITORAYIHUTCA?

ITouemy y Bcex nmonyuurcs 87
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A cunning gardener

One day children came to the gardener ﬁj
and asked: «Grand father, how many trees *= .~
do you have?» The gardener smiled and \!
answered: «Half of all my trees are \
apple-trees, 2 are plum-trees, 1/1 are e
pear-trees, besides I have 3 poplarsy». The
children began to count: how much trees
did the gardener have. But they couldn’t

do this. Help them, please. P




XUTPBIN CAAOBHHUK

OsHaXAbl IPHIIAH K CaAOBHUKY
pebsTa u copammMuBaloT: «AeAyIIKa,
CKOABKO B TBOEM CaAy AEPEBHBEB?Y
YARrIOHYACSI CAAOBHHK H  OTBETHA!
«IlonoBrMHa BCex MOHX AEPEBLEB -
SONOHH, dYeTBEepTas dYaCTb - CAHBEHI,
ceibMasi 4aCTh - TPYIIH H, KPOME TOTO,
ects emé€ 3 Tomonsa» Cranm pebsara
CUHTATDh, CKOABKO XK€ Y CAAOBHHKA B CaAY
BCEX AEPEBBEB, AA TaK H HE COCUHUTAAHU /
Mo>xxeT O65ITh BBI COCUHTAETE? 455




An alarm clock

The boy went to bed at
7p.m., he wind his alarm clock to
ring up at 9 a.m. How much will
he sleep?
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bysunsHHK

ManbpuHuK RET CIIATh B 1
JaCOB Beuepa, IOCTaBHUB
OYAHABLHUK TAK, YTOOBI OH
IIPO3BEHEA B 9 4acoOB yTpa.
CKORBKO BPEMEHH IIPOCIIHUT
MAanRbYHK?

{




IlocuuTar!

Y CKOABKHX ABY3HAYHDBIX

YHCenR cyMMa IHdP paBHA
107

9 yucen: 19,28,37,46,¢

91,82,73,64 n 55




Pebyc

= KoopauuaTa




IlonoBuHA

IlonoBHHA OT ITIOAOBHUHEI YHCAA PABHA IIOAOBHHE.
Kaxoe »sTO unicno?

J \‘-"'/ ha
-




Cropona xkBaspaTa ABCD
B 3 pasa OOABIIE CTOPOHLI
kBaspaTa MNPK.

Bo ckxonpko pas
IIAOIIIAAL SAIITPHXOBAHHOH
doUrypsl Ooonbiire, yeM
nnoasb kBaspara MNPK?
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Aanspiie...

Put down two numerals there: 10,8,11,9, 12,10, 13,...
i
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AanpIie...

KaxummB AOMKHBI OBITH ABAa CAEAYIOIIMX YMCAA B
rnocaeaosarenvbuoctu: 10,8,11,9, 12, 10, 13,... ?




Dividness

Can youdivide 11-21 -31 -41 -51-11into 10?




NAenuMoOCTb

ANenutcs nuyucno 11-21 -31 -41 -51-1mHa10?




Count!

On the birch there are 16 boughs, on each boughs
there are 4 apples. How many apples are on the birch?

There are no any

ap Ies on the birch




CocuuTan!

Ha 6epése 16 cyukos, Ha KaxxaoMm cyuke 1o 10
BETOK, Ha KaXAoH BeTke Io 4 abnroka. CKoOABKO
10nK0K Bcero?

(Ot
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CeMépouka

CKoAbKO pa3s BCTpeyaeTca udpa 1 IpH 3alHuCH
yrcen ot 1 zo 1007




OREKTPOIIOE3A HAET C
BOCTOKa Ha  3amas Co
ckopocTthio 60 xm/4. B Tom
>Ke HaIIpaBACHHMH- C BOCTOKA
Ha 3aIaj- AgeT BETEp, HO CO
ckopocThio 50 xM/4. B Kaky:o
CTOPOHY OTKAOHSIETCS AbIM
I10€e3Aa"

ABIMOK




NIO>XHHA

ABe AIO>KHHBI YMHOXHAH Ha 3 AIO>KHHBI.
CKOABKO BCEI'O AIOXKHUH IIOAYYHAOCH?

DDD 7_0) 72 mI0KHUHEBI
- (2:12) - (3-12)=

=(2-12-3)-12=72-12







(
fg A%

ponmopix
=%
«,

|



BBEIYMCANTE YCTHO

4-8-25-125

(

= 100000 =
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BconoMmuuTe
|

Tax Ha3BIBAIOT IIAOIIAABR KBaspaTa co cropoHou 10
METpPOB. B 5TOH eauMHHIIE H3IMEPHIOT IIAOIIAAU
HEOOABIIINX YYACTKOB.

A




[lonBenéM HUTOIH.

BoT 3aKOHYMAACE UTPA,
PesynsTaT y3HATE I1OpPA!

ToT, XTO Ayullle BCEX YYHACH,
ToT B urpe u orauyuncs!




B vooceala iR
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